
TOP TREATMENTS 
INSTALLATION INSTRUCTIONS

OUTSIDE MOUNT (OS) INSTALLATION — L BRACKETS

1.  Position the Top Treatment where you want it to hang on the wall above 
the window. Make sure it is centered over the window. Using a pencil, 
mark the wall along the bottom of the top treatment where you will install 
the brackets, 2" in from either side and every 24" in-between. 
Set aside. 

2.  Starting at one side of the window, 
position bracket so that the top of the 
bracket aligns with bottom of marks. 
Pre-drill pilot holes using 1⁄16" bit and 
install using #8 x 1½" screws and  
appropriate fasteners, you may need  
a larger drill bit (figure 1). 

3.  Working from one side of the window 
to the other, install remaining brackets 
following step 2. Use a level to ensure  
that each bracket is aligned with the first 
bracket installed (figure 2).

4.  Place Top Treatment on L bracket, then 
use supplied #6 x 5⁄8" wood screws to 
screw up through bracket holes into 
header (figure 3).

Note: Some top treatments will need to be mounted 
with the L bracket attached to the top of the header to 
allow proper operation of a shade installed inside the 

top treatment.

INSIDE MOUNT (IS) INSTALLATION 

1.  Position the top treatment into its desired location within the  
window casing. 

2.  Secure top treatment in place by anchoring directly into the window  
casing using the #8 x 11⁄2" screws provided. Use the 1⁄16" drill bit to drill 
pilot installation holes if desired. 

figure 1

figure 2

figure 3

TOP TREATMENT INSTALLATION

INSTALLATION HARDWARE (INCLUDED)

Quantity and type of hardware included depends on shade width and specifications.

a.  #8 x 11⁄2" Wood Screws 
b.  #6 x 5⁄8" Wood Screws 
c.  L Brackets 

 

FASTENERS 

Brackets and other hardware must be securely mounted to wall or 
other installation surface. Each installation surface is different and 
may require fasteners that are not provided. Please be sure to use 
appropriate fasteners for your situation.

Some common fasteners are:  
a.  #8 Screws for Wood (provided) 
b.  Plastic Insert Plugs (drywall or plaster) 
c.  Self Drilling Anchor (drywall) 
d.  Molly Bolts (drywall) 
e.  Toggle Bolts (drywall, or lath & plaster)

a b dc e

a

b
c

TOOLS REQUIRED

 · Power Driver 
 · ¼" Hex Bit or Phillips Bit 
 ·  1⁄16" Drill Bit
 · Pencil 

 · Tape Measure
 · Level
 · Appropriate Wall Fasteners

© 2011 HARTMANN&FORBES Inc. All rights reserved. All design information, samples, photographs, text, graphics, 
layout, weave and shade names, and other materials included in the booklet are protected as the  
proprietary intellectual property of HARTMANN&FORBES Inc. Reproduction, adaptation or duplication, in whole or in 
part, is prohibited except by express written permission of HARTMANN&FORBES Inc.   II-DR-1/11

888.582.8780 | hartmannforbes.com


